LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

Q2

Rl 2]

I Juail] = pole & paiial] 2wl Cadll & 4l LY Zeliall & zeliall 2840

el (e pasiall gulil] Caull alge Lly,

lol &l dall) dy | dall do M) dyy il

il lii)] 5 Y] 3
5 1 LW gai ol 4

Sl S5 das > 5



https://almanahj.com/ae/16science3
https://almanahj.com/ae/16science
https://almanahj.com/ae/16
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade16uae
https://www.facebook.com/grade16uae
http://bit.ly/2TtwFRA
https://t.me/uae16grade_bot
https://bit.ly/2PuN5cF
https://bit.ly/399CQlh
https://bit.ly/3dl3Hw7
https://bit.ly/3lM7K8o
https://almanahj.com/ae/id=7255
https://almanahj.com/ae/id=7378
https://almanahj.com/ae/id=7380
https://almanahj.com/ae/id=7382
https://almanahj.com/ae/id=8063
http://www.tcpdf.org




Q1. Mark(s): 5/5

Ki
In the figure below, the cell cycle involves three stages: tdalie GG AUA) 5yga Gadan colial JEAN o
Interphase, mitosis, and cytokinesis. cgra i) aluiYlg (Syludall aludiVly Al ) ghll
Interphase is divided into three substages. Agesd Jala EDG ) ) shall anding
Which stage of the following involves DNA replication? fDNA g cielaly b laa Al ya gi

Learning Outcomes Covered

o Bl0.3.1.03.037

C
a.
b, Gl
G2
C.
i S E




Mark(s): 5/5

T
The figure below shows the human sexual life cycle, OlaiY) A Auadall Slad) 598 G slial JSAN
study it and then answer the question: i) (8l a~ bl
What do you expect to happen to the number of fhaial) aludi¥) ol Cilagusgag SN asad ey o iy il
chr during meiosi
omosomes g meiosis? 2y (200
Pemgls (2n) Male (2n) 1555 8o s
i Grows into Ll iUl
adult male or
adult female "'\
il 2
(2n) & iy
Zygote (2n) x ‘
Learning Outcomes Covered
o BIO.3.1.03.025
Chromosomes will be duplicated in gametes E’.‘.‘Yl & Al ) sl
Chromosomes will be only replicates in male gametes L 5,0 SL:A'\ & e Ll
Chromosomes will be decreased in female gametes only Sl Agall £ LAY & ey
c.
e
: Chromosomes will be halved in gametes EL:..‘;'\ b il JI i




oy | E Rz

Q3:.

The figure below shows a dihybrid mating in dihybrid Punnett o3l Gl ause UI gl qsu.‘ Ve slial i) s

square that presents visually the possible combinations of the

possible alleles from each parent.

Which of the following genotypes does the letter (A) refer to?

s Ha aaly U8 ST Bl L) ey G
(A)bal g Jady A Akl QS Oa g

YR Yr yR yr
YR | (| e | e |
YYRR | YYRr | YYRR | YyRr
| | | |
YYRr | YYrr | YyRr | Yyrr
vR ) IAN l) l)

Learning Outcomes Covered

o BIO.3.3.02.011

Mark(s): 5/5




Of the following species used in agriculture, which is most
likely a polyploid?

ssadia O39S o e Aell A Laasieall 4800 1580 G (g

Tdsa gt pa g 811 45 panall

Learning Outcomes Covered

o BIG.3.1.03.038

. Cow Al
b, Goat Sela
Hen o Lol
c. Tl
P R R R R R R R S R S R e
E Wheat il
]




Crossing over would most likely occur during which | € sall Llae Sgaa mayy 4080 553 Jaba ga g A

stage of the cell cycle?

Learning Outcomes Covered

o BIO33.02.010

pe=ss=qg
=
= ]
19¢]
= |
o}
=
=]
.
=
14+]
e
[+7}
=
5]
=,
= |
en
EE"E
E
.H-g
3
£

hen homologous chromosomes line up in pairs :_:1,_;,5 oAbl Clagugag Sl Cilaai Lavie

... When DNA is being replicated DNA Cielas ol

d When centromeres are separated is)Spall adadll i ladie

[ —




' The figure below shows the first chromosome map created using il Clagugag S dbaya Jal olial JS&N cpn
> fruit fly data. Notice that the farther apart the two genes are, the e 18 of BaY. dgSWl LS clily aladaul
higher the crossover frequency. Which of the following sites has cOmuad) G Adlall 233 aa dajy ) gand)

the higher crossover frequency? ¢ sl Adas 1S5 A4y A3 o Laa adsa @

POV YN o B
yeliow body color

Wild type s g9

\} { /
1! | {
I , w&f el ) ) Y

Learning Outcomes Covered

o BlO.3.1.03.038

5, Between the w and v Vawd o
b. Between the t and k ok oy
Between the v and k Kyvdlon




Mark(s): 5/5

A heterozygous organism is best described as

sail o clial) Cillada al) il Choay s Laa gl
which of these?

¢ il
Learning Outcomes Covered

o BIO3.3.02.012

Dominant Bl

Genolype s bk

True-breeding Bl &
o e e e e e R R SR A n e m e
+ Hybrid Ol




“ In chickens, rose comb (R) is dominant to white comb (r). [ o) el WAl e ailu dda ga (R)(5, 80 cidl glal u:
A homozygous rose-combed rooster is mated with oaul dig g3 dalas & ciliaadl Jilaa g3y wie 93 dla gyl
white—combed hen. all the chicks in the F1 generation were [ty b5 Cilgind A gana A fa F1 Ja¥ duad) clalad JS cudd
kept together as a group for several years. they were allowed ol g gana A8 aa bl Lgd
to mate only within their own group. oa F2 !,J‘L‘:.H ua! ...3 0945 adgiall ciall Adal (Galhll el La
What is the expected comb phenotype of the F2 chicks? g laall

Learning Outcomes Covered

e BlO3302012

" 100% rose comb Sy e %100
.. 100% white comb adl e %100
.. 50% rose comb and 50% white comb saul e % 50 5 535 e %50

. 75% rose comb and 25% white comb saul e %25 5 gayy e %75

L T L e e




L}WI}... ‘W‘.l:;; J —
Q.9:.

Mark(s): 0/5

1
A true-breeding tall pea plant is crossed with a true-breeding Ak Bpald oWl A0u ae ADLL A4l Aligh #Y5L A Ciaglin

short pea plant, and all the offspring are tall. Abgh LIS 40 Cilgy AL
What is the most likely genotype of the offspring assuming a Aiall of palEil Ld B lasa s S8V Gl 5okl L
single—gene trait? Tomadl Bajha Al gll

Learning Outcomes Covered

e BlIO3.3.02.01




210:. Mark(s): 5/5
o
Khuza - = :
% The figure below shows the phases of mitosis, study it and A A pdl o (Syludiall aluadi¥) Hlghl Cuu olial JI)
then answer the question: s lpd) 6l
Which letter of the following indicates Anaphase? fAlali¥) jehall Jl uds A las s gi
s -
C & 11
£ < 2
QX > 4 |
X o7
g 3 2

Learning Outcomes Covered

o BIO.3.1.03.036

a A
b, B
c.| D




iy Why do some species reproduce sexually while others reproduce [ A% gl SIS o o (PR Al L g Lo kN
| asexually? r

lasia ¥

Learning Outcomes Covered

o BlI0.3.3.02.010

Because the rate of accumulation of beneficial mutations is faster Ledie & b 050 Bkl chyilal WS15 Jae oY
M when species reproduce asexually than when they reproduce sexually .Luis plSo il el 45)laa Luia Y 51;3‘1'} plEw
Because the beneficial genes mulliply in asexual reproduclion, faster de f ol gad o caelial akall Sl oY
y | time than they do when reproduction is sexually. Loads plsn o ety d3jlee oaind AlSAN Sigaa
Because genelic diversity is less when species reproduce sexually Lia giﬁ‘ﬂ AlEs e Bl LS sl ggull D
than when they reproduce asexually. LY plss o iy d5)\e
! Because he rate of accumulation of beneficial mutations s faster | o




The figure below shows the spindle apparatus.

Rl lgald) Cliga Gy olisl JE&I
Which letter of the following indicates Aster? Pisaaill GBLIY) ) ady o Las s @i

"

Learning Outcomes Covered

o BID.3.1.03.036



Kh The following graph shows a cell over the course of ibl) anpll 138 aadio) A Al Bl Byge UN AL acdl (i
its cell cycle. Use this graph to answer question: il o duladld
What stage occurred in the area labeled (B)? ?(B)slaccall dahiall A& Cisa Al ddaall La
N A ldi) &g
k) | '
H A ds .
(-9 -1
by ] o B
a2 g i [ ¢ ™ | =t 4
2 ? ‘
=
# o
! ] . I - 3 -t - 3 4 4 4 : 4 } 4 B 4
Learning Outcomes Covered
o BIO.3.1.03.036
Interphase sl jelkall
b, Milosis Sslall ALuaty)
..+ Metabolism ) ;
. Cytokinesis gl LY




Which describes apoptosis? TAAl Siga hean i Laa ‘5]

Learning Outcomes Covered

o BI03.1.03.033

Ocewrs in all cells [ E4 Y e PLIEQ

b Disrupts the normal development of an organism

) SIS el gl B

------------------------------------------------------------------------------------------------------------------------------------------------------------

. Is a programmed cell death T Ssla g g




@.1 2 Mark(s): 0/5

m?*’-—

Use the hypothetical cell shown below to answer the question:  :Jljudl o6 Auladd olial Aiuall dudal38Y) A4 aadil
What is the ratio of its surface area to its volume? flgana I lgaku dalu dudi b

3cm

)

L
Learning Outcomes Covered

o BIO.3.1.03.033




Mark(s): 0/5

Pea plants have seven pairs of chromosomes.

ilaguigag &I Ga £yl A o oYL Gl (Geiay

What are the possible genotypes of gametes? TEL.‘..-SLI Alaisall dgiuall CuSlall Lad

Learning Outcomes Covered

o BHO3.3.02.010

=]
Y
.

------------------------------------------------------------------------------------------------------------------------------------------------------------




The figure below shows some phases of meiosis, study it Ayl ccheaiall aludi¥) jglal i slial Jdu
and then answer the following question:

AU Jjaall o wal
Which letter of the following indicates the Metaphase 1I? ?",.';L"J\ i) gkl ) D o= e ‘é
o >
= . ~ N
GBe , 3 % W 8- o —9% S o
RS {\ < \ yf /
/ —_ < <y
(A) (B) (C) (D)

Learning Outcomes Covered

© BIO.3.1.03.051




o) Ll Algy aly )9St Jlakal uas ALilad g 13

If there are five boys and no girls born into a family,
0 il ealaadl 3pdgall OaS o Jlaial Lad

what is the probability that the sixth offspring will be a girl?

Learning Outcomes Covered

o BlIO33.02.012

| s

o=




Q.19:. Mark(s): 0/5

Ehuzam Based on the diagram below that indicates normal Cell Cycle, Al A uds g3 olial awusll ) bz
study it and then answer the question: il o6 aad Al duyal (AN Auaudal)
3uad a) o
'%'aq, Explain the relationship between cancer cells and the cell cycle?  $aall 5,4 Aulaydd) WA G A8 80
El"h ¥

Checkpint

Learning Outcomes Covered

© BIO.3.1.03.032

They have unrestrained cell division and spend short time in . il jolall 8 55008 558 oy 2dall die i pluiihy e

interphase.
i They have restrained cell division and spend short time in il skl A 5juad 58 oalg LAl e Jldil e
b1 interphase ;
They have unrestrained cell division and spend long time in il pghall 8 aligh 58 iy ddall e e 2Ll S
.. Interphase
They have restrained cell division and spend long time in il shall 3 aligh 58 g Aall aike plukil a3

4. Interphase




.w{“u’, /.

~F

What is the role of cyclins in a cell? faglal) A oGl cliggy s la

Learning Outcomes Covered

o BID.2.1.03033

2 ' To confrol the movement of microtubules Gl mlal) 3, Kol 1
. To slimulate the breakdown of the nuclear membrane Sasll eliall 53 juias
’ To cause the nucleolus to disappear gl elisal 3l

. To signal for the cell to divide aluttY U 43l 5)0) olhae)




| e —

21:. .
Kha 4 Mark(s): 0/5

.

Which of the following statements summarizes the genetic research G Al ale Giag padls AN Sllal) Ga gl

completed by the Austrian plant breeder Gregor Mendel? fala jpaja (Syluadll ol i dlas]

Learning Qutcomes Covered

o Bl03.3.0201

After years of research, Mendel identified the genes for ‘__,I_,J‘T die Alghuadl ciliadl Jite Sde Sl e Silgi ey

5, Mower colors. sy
PpEEsslEERERE S EENRGEEEAEEEdEGeEEETFAEESREREEAREEeEERESEEEEEaETERER® L L L L L L L LR L T 12 - . - ... - . - ... - ... EaAEEAaTFEEESAESTEEETEEEEEREREEAESAREEESEEEEE R
|
' Mendel bred various dog breeds to discover the science gl ple LS (g COISD e ddbda YL J0e -
b« Of genetics. :
e e S e e e e e A e S B e e e e A B B B B e i B e e e i H

Using Punnett squares, Mendel developed the principles cuils e T Al o psalia Joie jala

c. Of genefics.

Mendel hypothesized thal the offspring of pea plant trails g gpe Clia SN ol ol 38050 il o) Jue )

are inherited.




22

Mark(s): 0/5
V’J’”
\ g
j"
Khuzam | Based on the figure below, which of the following WA pailad e el A Laa (g1 colial JSAN L) 1aliiu
%‘ ‘ is not a characteristic of stem cells? fage dall
* T -
bq"!'u NS 3 i% Renda N 3
J stem cells Bone marrow A gl S dpsis WM
\ stem cells \ e el
"‘\_)' ‘\)'
Learning Outcomes Covered
o BIO.3.1.03.035
Unspecialized cells that can develop into specialized cells Wa M Jias ey danadie i WA
under the right conditions Aadludl Cagplall @0 dis diaiadne
-0 0000000 A H
E They might be the key to curing many medical conditions Al clall e 2l #00s & Ll s 3 E
b i and genetic defects. LAl YdEaYly ;
5 000 0.0 00001 0000 0 0 0 A 0 B W AR PP B R B M S B BN BN B R H
There are two basic types of stem cells, embryonic and adult Aaldly Assall cdae sl WIAN fe sl logt A

c stem celis.

- They remain in an organism for a short time. Spouad 37l all JHSH 3 53mse AD




O PR

J 23, Mark(s): 0/5

w

L

O,

IF
3, In the figure below, which letter of the following aledi¥) ) sadu b laa G gi colial Jeai 3
? indicates cytokinesis in animal cell? faulga dgdd A el
(A) (B)
Learning Outcomes Covered
o BI0O.3.1.03.036
a. A
B
i D




Mark(s): 5/5

The results of crossing over are new combinations of genes, Slial)l Ga Syda SlS gaaa gl Al 5 o
based on the figure below, answer the following question: 1A gl o caal slial JEN LY Tatd
Which chromatids exchanged genetic material? a1 gl Salall JUlG \gad Sy Siladleg S (g

I{_

AR

13
Learning Outcomes Covered

o BIO.3.3.02.010

The bottom left segment of the chromosome on the left Andadlly o) pgagas KU o (el Asdind) Anladll
and the bottom right segment of the chromosome on the right J.}jl asssag S e el A2l
The top left segment of the chromosome on the left Gadailly Yl pomesas Sl e Greaill Auglall daledl
and the bottom right segment of the chromosome on the right Sl pgmgag S e el Alid)
The bottom left segment of the chromosome on the right Gaailly 5! asaigag SI e (gpuall Adind] Gaadl
and the top right segment of the chromosome on the left o) agesgay SI e addl Aglell
The bottom right segment of the chromosome on the left Gadadlly o) aguigag S e el Adind) dakedl)

and the bottom left segment of the chromosome on the right S pamsas Sl e (gped) Adda)




J— e -— —
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? Mark(s): 5/5

The illustration below represents the law of independent Cuagd ,.L.: Ul A el il Ol gy olial JS&

e 1
K 4 .
i 1
"X e assortment in a dihybrid cross which allows equal chances (Rr 5Yy) Dl €9 I8 Aglda dat Ay, g1
— -
@ __-—1'%- that each pair of alleles (Yy and Rr) can randomly combine e b lpan gl T ol
with the others. °2) 3 (1) A A i s laa gl
]
3

Which of the following do the numbers (1) and (2) refer to?
aeS) )

Alleles in — Gamete — Possible allele MW sl - U’S‘ — d" i
parental formation  combinations rliad 3 gliadl byl ils
cell in gametes '

. _® '®

Learning Outcomes Covered

o Bl0.3.3.02.01

i (1):-YY and (2):yR yR:(2) 5 YY:(1)
(1):YR and (2):RR RR:(2) 5 YR:(1)

. (1):yy and (2):YR YR:(2) 5Yy:(1)




